
5

PRODUCT DIMENSIONS

Product dimensions

I* - Metallic spacers 
Spacers has to be 
installed and used 
when cabinet depth 
is greater than 12”.

EA
B

C

F

G

H

D

I*

I*

Model

EAS428S1

A 2817⁄64” (71.8 cm)

B 26” (66 cm)

C 19⁄64” (2.9 cm)

D 10¾” (27.3 cm)

E 917⁄32” (24.2 cm)

F 021⁄64” (.85 cm)

G 149⁄16” (37 cm)

H 6” (15.2 cm)

I* ½” (1.27 cm)

For gas range installation: Mount this hood so that the bottom 
edge is at minimum 27”(68,5 cm) above the cooking surface.
For electric range installation: mount this hood so that the 
bottom is not less than 24”(61 cm). 

Installation clearances

 

E

A

B

C

F

D

 

A. 12” (30.5 cm) min. upper  
cabinet height

B. 30” (76.2 cm) cabinet  
opening width*

C. 24” (61 cm) min. 36” (91.4 cm) 
suggested max. bottom of 
cabinet to cooking surface

D. 12” (30.48 cm) cabinet opening 
depth*

E. 15” (38.1 cm) min. clearance 
upper cabinet to countertop

F. 36” (91.4 cm) base cabinet 
height

*NOTE: This range hood is set to 30” (76.2 cm) cabinet width 
x 12” (30.5 cm) deep cabinets.

Venting requirements

Vent system must terminate to the outdoors, except for no 
vented (recirculating) installations.

Do not terminate the vent system in an attic or other 
enclosed area.

Do not use a 4” (10.2 cm) laundry-type wall cap.

Rigid metal vent is recommended. Plastic or metal foil 
vent is not recommended. The length of vent system and 
number of elbows should be kept to a minimum to provide 
efficient performance.

For the most efficient and quiet operation:
Use no more than three 90° elbows.

Make sure there is a minimum of 24” (61 cm) of straight 
vent between the elbows if more than 1 elbow is used.

Do not install 2 elbows together.

Use clamps to seal all joints in the vent system.

The vent system must have a damper. 

Use caulking to seal exterior wall or roof opening around 
the cap.

The size of the vent should be uniform.



7

Installation instructions

Prepare location 
It is recommended that the vent system be installed before the 
range hood is installed.

Before making cutouts, make sure there is proper clearance 
within the ceiling or wall for vent fittings.

Making the cutout to the bottom of the cabinet may be 
easier to do prior to mounting the cabinet to the wall.

1 Disconnect power.
2 Determine which venting method to use: roof, wall, or non 

vented.
3 Select a flat surface for assembling the range hood. Place 

covering over that surface. 

I      WARNING
EXCESSIVE WEIGHT HAZARD
USE TWO OR MORE PEOPLE TO MOVE AND INSTALL 
RANGE HOOD.
FAILURE TO DO SO CAN RESULT IN BACK OR OTHER INJURY.

4 Using 2 or more people, lift range hood onto covered 
surface.  

Range hood cabinet cutout
1 Use a saber saw or keyhole saw to cut out the cabinet 

bottom inside the cabinet frame.
NOTE: Frameless type cabinets require ¾” (1.9 cm) front lip in 
the cabinet bottom. A ¾” (1.9 cm) thick filler strip (not supplied) 
may be required for some types of cabinets. (See Step 3 in 
the “Install Range Hood” section).

Cut out dimensions (without spacers)

261⁄8” 
(66.3 cm)

107⁄8” 
(27.62cm)

3⁄4”
(1.9 cm)

1⁄2”
(1.27 cm)

A. Bottom of cabinet cutout 

2 Complete cabinet preparation following the instructions 
for your type of venting. Determine venting cutout loca-
tions and cut out vent openings in the cabinets, walls and/
or soffit.

Venting outside through the roof

1 Measure and mark the lines as shown. Use a saber saw or 
keyhole saw to cut an opening through the top of the cabinet 
and the roof for the vent.

Cutout Chart

Cabinet Height Hole Shape and Size

12” (30.5 cm) A 817⁄64” wide x 6¼” deep (21 cm x 15.9 cm)
rectangular opening in the cabinet top is
required for damper transition clearance.

A

A

C

D

E

B*

F

G*

A. Cutout
B. 817⁄64” (21 cm) x 61⁄4” (15.9 cm)*
C. 7¾” (19.7 cm) centerline to cabinet front
D. Centerline of the cabinet
E. 42⁄5” (10.6 cm)
F. 49⁄10” (12.5 cm) center to cabinet front
G. Ø (6 cm)*

Cabinet Height Hole Shape and Size

15” (38.1 cm) A 61⁄4” (15.9 cm) diameter round opening is 
required.

A

A

C

D

B*

E

G*

F

A. Cutout
B. Ø 6¼” (15.9 cm)*
C. 71⁄2” (19 cm) centerline to cabinet front
D. Centerline of the cabinet
E. 42⁄5” (10.6 cm)
F. 49⁄10” (12.5 cm) center to cabinet front
G. Ø (6 cm)*

1 Install the 6” (15.2 cm) vent transition to the top of the 
range hood liner (if removed for shipping) using two  
3.5 x 9.5 mm screws. Assemble the vent duct that you  
will use over the 6” (15.2 cm) vent transition.



8

Venting outside through the wall
1 Measure from the bottom of the range hood liner to the 

horizontal centerline of the vent opening (A).

A

B

C

D A. Measurement A
B. Horizontal centerline of vent 

opening
C. Range hood liner
D. 12” (30.5 cm) min. cabinet height

5 Remove the vent duct from the range hood liner. Transfer 
measurement A to the cabinet back wall. Measure from the 
underside of the cabinet.

6 Mark the cutout as shown. Use a saber saw or keyhole saw 
to cut a round opening through the back of the cabinet and 
the exterior wall for the vent. 

A

B

C  

A. Measurement A

B. Centerline

C. 6¼” (15.9 cm) 
round cutout

Non-vented (recirculating) installation through the soffit/
cabinet

E

A

B

G

D

F

H

I

A

B

G

F

C

D

E

A. Ceiling
B. Vent cover
C. Soffit
D. 6” (15.2 cm) vent
E. Range hood

F. Cabinet
G. Wall

H. 12” (30.5 cm) min. cabinet 
height

I. 17” (43.2 cm) min. vent cover 
height

1 Measure and mark the centerline of the cabinet to the soffit 
above.

2 Measure from the bottom of the cabinet to the centerline 
of the where the vent will come through the soffit. Mark the 
location and use a saber saw or keyhole saw to cut a 5¾” 
(14.6 cm) hole for the vent cover.

A

B

 
 
 
 
 
 
 
 
A.  Vent cover 
B.  Centerline

*NOTE: For 12” (30.5 cm) high cabinets a 6¼” deep x 8” wide 
(14.6 cm x 20.3 cm) rectangular opening in the cabinet top is 
required for damper transition clearance.

3 Consider the cutout chart measures to make the openings 
on the cabinet.

Complete preparation
1 If not yet attached, install the 6” (15.2 cm) vent transition      

the top of the range hood liner using two 3.5 x 9.5 mm screws.
2 Locate side mounting bracket flush 1 cm to the bottom of 

the cabinet side and against the inside of the front cabinet 
face. Orient the bracket depending on the width of your 
cabinet as depicted in the diagrams below. Drill 1⁄8” (3 mm) 
pilot holes in 6 places, attach a bracket using three 4.5 
x 13 mm screws to each side of the cabinet, and tighten.          
Additional washers in hardware package are supplied as 
spacers for cabinet walls thinner than ½”(13 mm).

 
Bracket Orientation for 30” (76.2 cm) Cabinet

A

B

C

D

A. 30” (76.2 cm) cabinet
B. Screws - 4.5 x 13 mm (8)

C. Washers (optional)

D. Mounting bracket (2) (position for 30” [76.2 cm] 
cabinet) 



9

Bracket Orientation for 36” (91.4 cm) Cabinet

A
B

C

D

A. 30” (76.2 cm) cabinet
B. Screws - 4.5 x 13 mm (8)
C. Washers (optional)
D. Mounting bracket (2) (position for 30” [76.2 cm 

cabinet) 

 

Move the bracket 6⁄16” (1 cm) from 
the bottom side of the cabinet

5 Install the vent system according to the method needed.  
Use caulking to seal the exterior wall or roof opening.

Install range hood

I      WARNING
EXCESSIVE WEIGHT HAZARD.
USE TWO OR MORE PEOPLE TO MOVE AND INSTALL 
RANGE HOOD.FAILURE TO DO SO CAN RESULT IN BACK OR 
OTHER INJURY.

1 Using 2 or more people, lift the hood liner into its mounted 
location. Attach with four 4.2 x 19 mm screws into the 
slotted openings. Do not tighten screws.

2 Center the canopy in the cabinet. Align the bottom of the  
canopy with the bottom of the cabinet. Install four 4.2 x 19 mm 
screws into the hood canopy assembly and tighten all (8) 
mounting screws.

A

B C

A. Cabinet
B. Hood liner canopy assembly

C. Screws - 4.2 x 19 mm (8)

3 Remove the metal grease filters from the face panel. 
4 Connect the lamps connector to the connector present 

inside the hood as shown in drawing.

A

B

A. Lamp connector
B. Hood connector

5 Attach the face plate to the hood insert. Tighten to secure. 
NOTE: If cabinet depth is greater than 12”, it is recommended 
that the two 1⁄2” metal spacers are installed.   
Install to front and rear sides of the face plate with 3.5 x 9.5 mm 
screws as shown in drawing. 

B

C

C

A

A. Face Panel
B. Front and rear spacer

C. Screws - 3.5 x 9.5 mm (4)

 

C

B

A
D

A. Screws - 3.5 x 9.5 mm flat-head (4)
B. Face plate (30” x 12”[76.2 cm x 30.5 cm] shown)
C. Cabinet (30” x 12” [76.2 cm x 30.5 cm] shown)
D. Screws - 4.2 x 15 mm truss-head (2)




